Di1viISION:

NEGATIVE DECIMAL NUMBERS (H - SET 5)

Drvsion Name:
Time: Score: A
D —762.6 =10 = 16) —157.52 -8 =
) —39975 = § = 1M 3619+ (=0.7) =
3 —0439 =~ 10 = 15 10.926 = 0.2 =
) 48090 + 6 = 19 5880 + (—6) =
5 —4994 = 1 = 200 1.0962 = 0.03 =
0 215.88 + (—6) = 2 —70080 + 10 =
N —15.8+04 = 2 —1205+05 =
9 —224.01 + (=3) = 2 —895.1 + 1 =
9 7526 = 10 = ) —=35.1+0.1=
10) —3542 =+ (—1) = 25) 205.60 =3 =
n—7276 + 10 = 0 99.16 + (—4) =
12) —185.85 =5 = 2 7180 + (—0.8) =
13 13864 = 2 = %) 27.516 + (—0.4) =
1) —0.478+0.1 = 290 60050 + (—10) =
15 178.41 + (=3) = 300 —0.5094 = 0.06 =
Mathematics: Division - Level 6 - Horizontal - Set 5 2 culus
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